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#IMPORT MODULES
import numpy as np
import pandas as pd
import math as mth
import statistics

#READING DATA

def read_data():
data = np.array(pd.read_csv(r'C:\Users\edwincaballero\Desktop\data.csv'))
return data

#SAVING DATA

def write_snv_output(snv_data):
snv_output_writer = r'C:\Users\edwincaballero\Desktop\snv_results.csv'
pd.DataFrame(snv_data).to_csv(snv_output_writer, index=False)

#APPLY SNV ON DATA

def snv(input_data):

# DEFINE A NEW ARRAY AND POPULATE IT WITH THE CORRECTED DATA
output_data = np.zeros_like(input_data)

for i in range(input_data.shape[®0]):

# APPLY CORRECTION

output_data[i, :] = (input_data[i,:] - np.mean(input_datal[i,:])) / np.st
d(input_datal[i, :])

return output_data

input_data = read_data()
snv_data = snv(input_data)
write_snv_output(snv_data)
count = snv_data.shape[0]

print()
print('SUCCESS")
print(str(count)+ ' spectra transformed with SNV method")

171



